Chapter 7.1, Problem 17E

Problem

Use the definition of logarithm to fill in the blanks below.

a. log2 8 = 3 because

b. Io_a.{—') _ .2 because

Pl .

c. log4 4 = 1 because

d. log3(3n) = n because

e. log4 1 =0 because

Step-by-step solution

Step 1075

(@) log,8=1log, 2’
=3log, 2

=3(1)

=3

Since log, m" = nlog, m, log,a=1

Step 2 of 5

(b) log, [%J =log,(25) l

=log,5"
=—2log, 5

==2(1)

==2

Step 3 of 5

(¢) log, 4 =1 because 4 _4

Step 4 of 5

(d) log,3" =n because |og m" =nlog, m and

log, a=1

Step 50f 5
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(e) log,1=0 because 40 _
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